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Slug5h: Corrected RMS (ppm): asym_usr
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Slug5: asym_usr: |03, -7, (ppm)
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Slope (ppm/um)

Slug5: Slope : usr_vs_evMon0 (ppm/um) Idit_slopel - reg_slope| (ppm/um)
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Slope (ppm/um)

Slug5: Slope : usr_vs_evMonl (ppm/um) Idit_slope] - [reg_slope| (ppm/um)
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Slope (ppm/um)
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Slug5: Slope : usr_vs_evMon2 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

htemp

-@- Regression

-@- Dithering

3425 3426 3427 3428 3433

Run Number

18

1.6

14

12

0.8

0.6

0.4

0.2

ool

10

11

12

13

14

Entries 12

Mean 13.54

Std Dev  2.656

15

11 |||
16 17 18

12)-fabs(mini_eig.usr_evMon2) ) /(ppm/um)



Slope (ppm/um)
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Slug5: Slope : usr_vs_evMon3 (ppm/um)
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Slope (ppm/um)

Slug5: Slope : usr_vs_evMon4 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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